NAME KEY Math 1212
Test 1
Fall 2016

You have 50 minutes to complete this test. You must show all work to receive full credit,
Work any 7 of the following 8 problems. Clearly CROSS OUT the problem you do not
wish me to grade. Each problem is worth 14 points, and you get 2 points for free, for a
total of 100 points. If you have any questions, please come to the front and ask.
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2. Evaluate the following limits. If any of them do not exist, EXPLAIN why not
(“because it’s undefined” and “denominator is zero™ are not sufficient

explanations).
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The cost function for flavored coffee at an upscale coffechouse is given in dollars
by C(x)=3x+160, where x is the number of pounds of coffee. If coffee can be

sold for $7 per pound, how many pounds will have to be sold in order to break
even? What will be the revenue at this point?
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Suppose that the price in dollars of a stereo system is given by

plx)= 10(2)0 +1000, where x is the demand (number of stereos sold). Find the
x

marginal revenue whenx =10. Then write a sentence describing the meaning of
this marginal revenue,
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Consider the graph of the function f{x)given below.
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function is continuous and where it is discontinuous. Be sure to fully explain your
anSwers.

| x-values except x=l and x=3, £05Y is conf1vovS.

For a
DM/'CL/, So we zm{7 nee

Since eoch /mpce, is a/mlyn
1o consider x=| and x=232.

X =) £y = 12 3+ 4 =2 exisfs 4

k| £
4 b F6)= Lim (x+) =2 ?3 Y

: bR X )
3 lim Q(;Q-; lire ().(.25-—311’"1):]2——31";‘—-2

? x> X2t . : ' P
’ I‘Jr:-f-rce, lim £ = F01) ,(;f; £is ont. al /}

X ¥

': — E I\K
/ l S 3 [(R) (AL BD YA ews

‘ . - = 22y = 32'37”)‘/:[{
Lo S(a&pfh ol to sa }:;‘/\3 Ej_“q xleng?“ (X et ) \Jrﬂzz’n‘}ﬂ}l‘l

£is rontiavews for el i FX) 7 iy (5-ry =R i it DNE

X 3. ¥ >3t x =3t -
o \Fis NoT comtinvess af x=3

Fs

>
A\l
X




